Run 6160 quartetwise, Asyms0 (Raw): All
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Run 6160 guartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 6160 quartetwise, Asyms0 (Raw): Beam OFF
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Run 6160 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 6160 quartetwise, Diffs0: All Run 6160 quartetwise, Diffs0: Beam OFF
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Run 6160 quartetwise, NegHelAccO/NSamplesQ: All Run 6160 quartetwise, NegHelAccO/NSamples0: Beam OFF

quartetwize_negHQ “000 quanebwise_beamd_neghD
[ Entries 177516 — Entries 166414
70000 — Mean 0.6863 u Mean 0.4419
m Std Dev  1.347 6000 — Std Dev  0.1221
B0O000 — ~
- 5000 —
50000 |— n
m 4000 —
40000 — u
_ 3000 —
30000 — —
20000 — 2000 —
10000 — 1000 —
'D 1 r 1 Ll | .l 1 | —1 1 | 1 1 1 | 1 1 1 I 1 e | 1 1 1 | [ 1 1 1 | 1 | 1 1 1 | 1 1 1 I 1 1 -l 1 1 I
0 2 4 6 B 10 12 14 ﬂJ.E 0 0.2 0.4 0.6 0.8 1
MNegHelAccD/NegHelNSampleso MNegHelAccO/NegHelNSamplesO
Run 6160 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON Run 6160 quartetwise, NegHelAccl/NSamples0: Beam ON, Laser OFF
guanstwisa baami las! nagHD guanctwisa boami lasd nogHD
= _ Entries 1801 80— Entries 2191
anl— Mean 11.54 — Mean 2.594
— Std Dev  0.3448 20— Std Dev  0L.2B16
70~ =
= 60—
60— —
= 50—
50— [
40 = a0~ Lﬂ_r
a0l 30—
a0 :_ 20 :—
10— 10—
0 :I = 1 [T =N T = I B 0o :| h o I NN TR N T N N B
10 12 12.5 13 1.5 2 2.5 3 3.5

NegHelAccO/NegHelNSamples ' ' NegHelAccO/NegHelNSamplesO



BOOOOD

0000

60000

50000

40000

30000

20000

10000

70

60

50

40

30

20

10

Run 6160 quartetwise, PosHelAccO/NSamplesC: All
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Run 6160 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 6160 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 6160 quartetwise, Sums0: All
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Run 6160 quartetwise, Sums0: Beam ON, Laser ON
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Run 6160 quartetwise, Sums0: Beam OFF
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Run 6160 quartetwise, Sums(: Beam ON, Laser OFF
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